
MFP Controller Options 
 



 

 
 

  1.MFP Controller Options 1 ....................................   2 

  2.MFP Controller Options 2 ....................................   4 

Parts Index ..............................................................   8 

MFP Controller Options 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 

March 30, 2009 



2 

 

1.MFP Controller Options 1 

IEEE 1284 INterface Board Type A (B679-17)

File Format Converter Type E (D377-04)

DataOverwriteSecurity Unit Type H

Printer/Scanner Unit Type 9001 Post Script3 Unit Type 9001 (D462-20)

VM Card Type J (D463-01/-02/-04)

Bluetooth Interface Unit Type 3245 (B826-17)

IEEE 802.11a/g Interface Unit Type J/K

Copy Data Security Unit Type F (B829-07)

Browser Unit Type E (D430-05/-06/-07)

HDD Encryption Unit Type A (D377-16)

IPDS Unit Type 9001 (D462-21)

Gigabit Ethernet Type B (D377-21)Copy Connector Type 3260 (B328-11)

1

4

7

8

10

11

15 4

13

16

17

105 18

19

20 30

31

32

33

29 106

28

1021042726

23

22 24

25

103

21101

12

2 3

5 6

9

(D462-01/-02/-03/-04)

(D377-06)

(D377-01/-02/-19)

4

14



3 

 1 B247 1447  Keytop:Printer:M-C3:NA 1 

 1 B247 1457  Keytop:Printer:M-C3:EU 1 

 1 B247 1448  Keytop:Scanner:M-C3:NA 1 

 1 B247 1458  Keytop:Scanner:M-C3:EU 1 

 2 D462 5001  SD-Card:P/S:M-C4:EXP:Ass'y 1 

 3 G178 6072  PCB:PC4200:RAWCard-A:1GB 1 

 4 B223 1533  Keytop:Function:NA 1 

 4 B223 1539  Keytop:Function:EU 1 

 5 D463 5001  SD-Card:VM:08A:EXP:Ass'y 1 

 6 GA00 3176  Decal:SDK 1 

 7 D377 0581  SD-Card - Service 1 

 8 B238 1517  Keytop:Function 2 

 9 D430 5005  SD-Card:Browser:08S:NA:Ass'y 1 

 10 D377 5016  SD-Card - HDD Encryption Unit 1 

 11 D462 5020  SD-Card:PS3:M-C4:AA:Ass'y 1 

 12 D462 5021  SD-Card:IPDS:M-C4:AA:Ass'y 1 

 13 B234 1574  Keytop:KINO_menu:NA 1 

 13 B234 1580  Keytop:KINO_menu:EU 1 

 14 B132 7366  Keytop:Menu:NA 1 

 14 B132 7368  Keytop:Menu:EU 1 

 14 B132 7367  Keytop:PRN-menu 1 

 14 B132 7369  Keytop:PRN-menu:EU 1 

 15 B328 5662  PCB:Coupling:PBF 1 

 16 B328 5500  Cable:Power:Repeater 1 

 17 B328 5503  Interface Cable 1 

 18 B140 5725  Hub:1394:Repeater 1 

 19 B595 5670  PCB Ass'y - IEEE1284 1 

 20 D377 5603  PCB:MLB32 1 

 21 B829 5106  PCB:ICIB-3 1 

 22 B229 5739  Harness:ICIB 1 

 23 B229 5740  Harness:ICIB:Power Source 1 

 24 B770 5432  Harness:FFC:ICIB:Russian 1 

 25 B770 5435  Harness:Power Source:ICIB 1 

 26 G178 6033  PCB:Gigaethernet:PCIE 1 

 27 B129 5008  Cap - LAN Connector 1 

 28 D377 5701  Wireless LAN Board - NA 1 

 28 D377 5702  Wireless LAN Board - EU/AA 1 

 28 D377 5719  Wireless LAN Board - G 1 

 29 D377 5698  Velcro Fastener:Cover:Antenna:250 1 

 30 B582 5900  PCB:Wireless-adapter 1 

 31 B582 5300  Card Cover 1 

 32 B826 5400  Card - Bluetooth CF 1 

 33 B826 5402  Card Adapter:Bluetooth 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 101 0451 3006N Tapping Screw - 3x6  

 102 0454 3006Q Tapping Screw - M3x6  

 103 1105 0516  Clamp  

 104 1607 1461  Ferrite Core  

 105 1607 1715  Ferrite Core - RFC-5  

 106 1105 0688  Clamp:KS-15  

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

1.MFP Controller Options 1 



4 

 

2.MFP Controller Options 2 

USB2.0/SD Slot Type C (D464-01)

6

5 102

102

101

101

9
7

8
10

12

11
101

101
14

103

102

103

102

101
13

103
102

3
1

101

101 1024

2



5 

 1 D464 1280  Shielding Plate:LED  

 2 D464 1271  Cover:SD/USB:MC4  

 3 D464 1281  Bracket:Base:MC4:Ass'y  

 4 D464 5000  Cable:USB:1700  

 5 D464 1283  Bracket:Coupling:Front  

 6 D464 1284  Bracket:Coupling:Rear  

 7 D464 1259  Panel:USB:EXP:MC4:Printing  

 8 D464 1258  Panel:SD:EXP:MC4:Printing  

 9 D464 1277  Ground Plate:USB  

 10 D464 1278  Ground Plate:SD  

 11 D464 1279  Ground Plate:Coupling  

 12 D464 4264  Harness:Drum Stay:Earth  

 13 D464 1265  Harness:Bracket:Ground  

 14 D422 5701  PCB:Fusion:Ass'y  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 101 0451 3006N Tapping Screw - 3x6  

 102 0450 3006N Tapping Screw - M3x6  

 103 1105 0516  Clamp  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per
Assembly

Part No. 
Index 
No. 

2.MFP Controller Options 2 



 

 

Parts Index 



8 

B328 5500  Cable:Power:Repeater   3 -  16 

B328 5503  Interface Cable   3 -  17 

B328 5662  PCB:Coupling:PBF   3 -  15 

B826 5400  Card - Bluetooth CF   3 -  32 

B826 5402  Card Adapter:Bluetooth   3 -  33 

B829 5106  PCB:ICIB-3   3 -  21 

D377 0581  SD-Card - Service   3 -   7 

D377 5016  SD-Card - HDD Encryption Unit   3 -  10 

D377 5603  PCB:MLB32   3 -  20 

D377 5698  Velcro Fastener:Cover:Antenna:250   3 -  29 

D377 5701  Wireless LAN Board - NA   3 -  28 

D377 5702  Wireless LAN Board - EU/AA   3 -  28 

D377 5719  Wireless LAN Board - G   3 -  28 

D430 5005  SD-Card:Browser:08S:NA:Ass'y   3 -   9 

D462 5001  SD-Card:P/S:M-C4:EXP:Ass'y   3 -   2 

D462 5020  SD-Card:PS3:M-C4:AA:Ass'y   3 -  11 

D462 5021  SD-Card:IPDS:M-C4:AA:Ass'y   3 -  12 

D463 5001  SD-Card:VM:08A:EXP:Ass'y   3 -   5 

D464 1258  Panel:SD:EXP:MC4:Printing   5 -   8 

D464 1259  Panel:USB:EXP:MC4:Printing   5 -   7 

D464 1265  Harness:Bracket:Ground   5 -  13 

D464 1271  Cover:SD/USB:MC4   5 -   2 

D464 1277  Ground Plate:USB   5 -   9 

D464 1278  Ground Plate:SD   5 -  10 

D464 1279  Ground Plate:Coupling   5 -  11 

D464 1280  Shielding Plate:LED   5 -   1 

D464 1281  Bracket:Base:MC4:Ass'y   5 -   3 

D464 1283  Bracket:Coupling:Front   5 -   5 

D464 1284  Bracket:Coupling:Rear   5 -   6 

D464 4264  Harness:Drum Stay:Earth   5 -  12 

D464 5000  Cable:USB:1700   5 -   4 

 

 

 

 

B129 5008  Cap - LAN Connector   3 -  27 

B132 7366  Keytop:Menu:NA   3 -  14 

B132 7367  Keytop:PRN-menu   3 -  14 

B132 7368  Keytop:Menu:EU   3 -  14 

B132 7369  Keytop:PRN-menu:EU   3 -  14 

B140 5725  Hub:1394:Repeater   3 -  18 

B223 1533  Keytop:Function:NA   3 -   4 

B223 1539  Keytop:Function:EU   3 -   4 

B229 5739  Harness:ICIB   3 -  22 

B229 5740  Harness:ICIB:Power Source   3 -  23 

B234 1574  Keytop:KINO_menu:NA   3 -  13 

B234 1580  Keytop:KINO_menu:EU   3 -  13 

B238 1517  Keytop:Function   3 -   8 

B247 1447  Keytop:Printer:M-C3:NA   3 -   1 

B247 1448  Keytop:Scanner:M-C3:NA   3 -   1 

B247 1457  Keytop:Printer:M-C3:EU   3 -   1 

B247 1458  Keytop:Scanner:M-C3:EU   3 -   1 

B582 5300  Card Cover   3 -  31 

B582 5900  PCB:Wireless-adapter   3 -  30 

B595 5670  PCB Ass'y - IEEE1284   3 -  19 

B770 5432  Harness:FFC:ICIB:Russian   3 -  24 

B770 5435  Harness:Power Source:ICIB   3 -  25 

D422 5701  PCB:Fusion:Ass'y   5 -  14 

G178 6033  PCB:Gigaethernet:PCIE   3 -  26 

G178 6072  PCB:PC4200:RAWCard-A:1GB   3 -   3 

 

 

 

 

 

 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 



9 

GA00 3176  Decal:SDK   3 -   6 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

0450 3006N Tapping Screw - M3x6   5 - 102 

0451 3006N Tapping Screw - 3x6   3 - 101 

0451 3006N Tapping Screw - 3x6   5 - 101 

0454 3006Q Tapping Screw - M3x6   3 - 102 

1105 0516  Clamp   3 - 103 

1105 0516  Clamp   5 - 103 

1105 0688  Clamp:KS-15   3 - 106 

1607 1461  Ferrite Core   3 - 104 

1607 1715  Ferrite Core - RFC-5   3 - 105 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No.

Part No. 


	1.MFP Controller Options 1 
	2.MFP Controller Options 2 
	Parts Index 

